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A FUEX L
HE: RO ZMHST(AMSSN/IIZNERE)
H2: MASES 2N (Y=20HII2EESIAH) (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
ZF0I =X 5,700,000 5,750,000 A 50,000
= 894,077
< 223,519
Al 4,582,404
20| =MEB ST (AISEX /I ZMES A 5,530,000 5,598,500 A 68,500
= 758,077
o= 189,519
Al 4,582,404
HASS ABNA(AES0ISSL3A) 5,530,000 5,598,500 68,500
= 758,077
= 189,519
Al 4,582,404
o220 XXM HaEX 4,510,192 4,627,763 A 117,571
308 MXISHMSOIA 4,510,192 4,627,763 A 117,571
07 AIXISHHZ2EES 2 4,510,192 4,627,763 A 117,571
Ooz=20&=Hl AlHIEEZ2 4,510,192,000& 4,510,192
S2ZNH/FAAMN (2 SHIIS2Y )<KEX> 78,294 83,294 A5,000
= 62,635
= 15,659
201 gBt2A | 39,574 46,374 N 6,800
= 31,659
= 7,915
01 AP 2t 2| H| 26,702 30,502 A 3,800
O1.48t4==2H| 19,352
S 3HYERF=E Lbtx=SH| 9,352,000 9,352
= 7,481
< 1,871
—olzZoiAde E22 S A
10,000,000& 10,000
= 8,000
= 2,000
0O3.82dxd 1,050
23 0HAARARE FoH 1,050,000 1,050
2 840
= 210
O5.2&4| 6,300
OIS SHYERFZX AIZAZ22 X 24!
7,000 x5H 15U x 128 6,300
= 5,040
& 1,260
02 B32%H| 7,872 7,872 0
O1.2Z22=22L Al 7,872
-EHUHHEEBAN & REZ 7,872
° st 300& *x900=+12& 3,240
= 2,592
o 648




M FU=SX 0
I [N L2 (MASX/OIZEEEH)
Hel: MNASS AN (A2 SIS SLESAH) (&)
= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
=P 1,930& x200S 128 4,632
= 3,706
S 926
03 A2 S HI 5,000 8,000 23,000
Odz=s0EgN /TS 5,000,000& 5,000
2 4,000
= 1,000
202 04 4l 30,720 28,920 1,800
2 24,576
S 6,144
01 =L 30,720 28,920 1,800
OolzI0iYe EXOY
60,0002 x4 & »3& *63] 4,320
2 3,456
= 864
Oo=230HEE H&X Ast
60,0003 x40 3 7,200
2 5,760
= 1,440
0SS A230LYSR D]
60,0003 30 »2& 3,600
= 2,880
= 720
Oozs0 AL EEF0HI
260,000 x5 x12& 15,600
= 12,480
= 3,120
301 LetE = 3,000 3,000 0
= 2,400
S 600
09 BAMNEHIESS 3,000 3,000 0
OSAZIOLNAT L 2HX DSEI AU
3,000,000& 3,000
= 2,400
= 600
307 glztol & 5,000 5,000 0
= 4,000
S 1,000
01z 2= 5,000 5,000 0
Ootd et otAd 228 28I NEZY
20,0003 »250H 5,000
= 4,000
= 1,000
220/ (d2S20HESISHIKEER> 869,302 809,302 60,000
= 695,442
S 173,860
307 glztol & 869,302 809,302 60,000
= 695,442




SN Fo=NY
H: 20IZMESH(MISEX/IZHEEE)
el MASSE AN (d==20IISSESAH) (Sl & &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 173,860
01 222724l 869,302 809, 302 60,000
O2zss0 =224 s @230l
869,302,000 869,302
= 695,442
< 173,860
[ {M=1Rs]! 72,212 78,141 AN5,929
801 Gl HIHI 72,212 78,141 N5,929
01 BHoili bl bl 72,212 78,141 A5,929
oaolgltl 72,212,000& 72,212
HH2LZH(FUSX D) (IIEH/IIE) 170,000 151,500 18,500
= 136,000
< 34,000
HA2IH(A=ZSHII2SLESAH) 170,000 151,500 18,500
= 136,000
< 34,000
o230 /FM(RFHAER2GHI/A 23S HE2IAIY )< 170,000 151,500 18,500
>
= 136,000
< 34,000
101 @144l 170,000 151,500 18,500
= 136,000
< 34,000
03 RIHAZ 22+ 170,000 151,500 18,500
Oz &elAL el 34,000,000& =5 170,000
= 136,000
< 34,000




